ERER AR # 3 A0 CEAKIS4E) 3 HR»

JLix JLix JLix

X 97 N i Hr X 97 N i A X 97 A ] Hr

% LS At % % LS At % % LS i LS
WL il 298,985| 320,781| 619,766| 245,531|% B HT 5, 706 6,199 11,905 3,963 A 532 600 1,132 380
£ | 210,466| 221,021| 431,487 157,335\l F A 2,026 2, 146 4,172 L1spn k& 1,223 1, 306 2,529 790
Al | 42,660 46,496 89, 156|  33,611|1F T AF 2, 794 2,912 5, 706 1, 748\ H #f 1,514 1,674 3,188 961
£ B | 34,299| 36,714 71,013| 26,397|#s FH OET 3,772 3,940 7,712 2,292[% o & 426 444 870 291
M R tH| 28,454 31,303 59,757 21,914|4& Ot HT 5, 989 6,468| 12,457 4,075 % BT 2, 686 2,990 5,676 1,826
H JE | 17,220 18,604 35,824 11,594|WE J5 HT 9,506| 10,006| 19,512 6, 260| & il 448 478 926 352
| 27,366|  29,179| 56,545| 18,362|%F & HT 3,223 3,623 6, 846 2,281 A HT 890 1,024 1,914 688
& % | 10,988]  12,326| 23,314 8,496| B HE HT 5,316 5,714 11,030 3,602] £ 2 BAS 444 499 943 323
oW | 11,641 12,688 24,329 8, 211| 5% # HT 8, 023 8,737 16,760 5,034|FT W At 330 375 705 230
fi ®7 il 14,015 15,117 29,132 10,835|% B 2,849 3, 036 5, 885 1,787|85 % HT 5,713 6,151 11,864 4, 007
= FH| 696,094 | 744, 229 | HitHHHEAS | 542, 286]7F - WT 2,974 3,333 6, 307 1,982|Ws H HT 1, 906 2,122 4,028 1,442
(R 5, 007 5,545 10, 552 3,604|E fw M| 11,438| 12,083 23,521 7,177 Y mT 5,576 6,023 11,599 3,734
A T 3, 368 3, 761 7,129 2,467 E AT 1,373 1, 469 2,842 886|2s 3 T 3,410 3,476 6, 836 2, 385
0 s 1| my 2,998 3, 253 6, 251 2,433|4t &= HT 3,147 3, 467 6,614 1,868|F 4k HT 3, 565 3,927 7,492 2,563
L) 7, 062 7,852 14,914 5 257|& B HT 4,220 4,418 8, 638 2,691k JR HT 2, 402 2, 542 4, 944 1, 690
B ET| 12,201 13,314| 25,515 8,431k M9 HT 2,776 3, 165 5,941 2, 16830 2 & 4+ 723 782 1, 505 448
R P HT 2, 509 2, 759 5, 268 1,658 L my 2,022 2,159 4,181 1, 3696 58 & & 858 960 1,818 543
Re (L HT 4,135 4, 383 8,518 2, 715\f@ Wy 1,491 1,608 3, 099 1,147|3 £ mT 6, 354 6,982 13,336 4,737
= S mr 2,674 3,031 5, 705 1,923k & HT 1,926 2,129 4, 055 1, 182|/F & HT 3,779 4,101 7, 880 2, 662
H 4 W7 4, 240 4,670 8,910 3, 0884 4 HT 1, 261 1, 398 2, 659 827|5% H HT 1,757 1,872 3, 629 1,243
ok HT 2, 600 2,863 5, 463 1, 804|#% % T 2, 005 2,085 4, 090 1,194 de my 3, 551 3, 860 7,411 2, 584
(=) 2,014 2,272 4, 286 1,390)% w6 mr 1,539 1,784 3,323 1, 082]/, 7 1, 730 1, 845 3,575 1,196
& T 6, 050 6,751 12,801 4,537|Fs 1 HT 4, 493 4, 956 9, 449 2, 952|/\ >k g T 3,015 3,310 6, 325 2,271
4B ONT 3,711 4,214 7,925 2,801|% & T 7, 681 8,348| 16,029 4, 753|/8 Kk HT 3,873 4,191 8, 064 2, 581
=R/ N T 9,463| 10,329| 19,792 6, 166|%5 JR HT 1,737 1,971 3, 708 1274/ JsU HT 3, 341 3, 660 7,001 2,479
£ iy HT 6, 141 6,514 12,655 4,064 /A it HT 5, 586 6,189 11,775 3, 835/ 2 60,046| 65,194| 125,240| 42,406
WOy BT 7,867 8,362| 16,229 4,867|F H A 898 939 1,837 sh2|MT AF Et| 247,857 269,349 517,206( 168,705
/I | 82,040 89,873 171,913 57, 205] /) | 105,771| 114,282| 220,053| 69, 094 | FH| 943,951 | HEHHHHHHE | REEHHHHE | 710,991




